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2 'H NMR (CDCl,, 400 MHz)
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213C NMR (CDCl,, 100 MHz)
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Cr(CO),
7b 'H NMR (CDCl,, 200 MHz)
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9 'H NMR (CDCl,, 400 MHz)
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9 13C NMR (CDCl,, 100 MHz)
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11 2C NMR (CDCl,, 100 MHz)
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12 1HNMR (CDCL,, 400 MHz)
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12 2CNMR (CDCl,, 100 MHz)




121870
8£688°0
b 599060
o el
ST —— S h
g7 —— I £9697°T S
wee r Sma.ﬁ/ A
802€°T -
SLT9E T~ 1 )mww.m
oree | B # WMWNMMN MJ 9000
[il445 001 N PR
r 86LL6°1
. R AR
e s - 1162°0
LTS~ L 9T6VT°C - .
612°65 — ] 8219177 -
o 079%6°C
e w6z
9€8L6°2
98£86°¢
BSTL ] | LoLee'e N 2 Dy
— . ]
€'zl = - i e N e
. | | .
67676L 8 przsec 8LLT0
| 89TTL € I TN
S rip— S Ty
. e VL
5LL98° €~ f //Hm:m.c
L 79006°¢ :
53.7\ . e
g  sLoite - JON
= g::“ N . ) 798570
L 2:3\ < S
66£89°F
SETISTh
e —— PRLLES
9SL°ETT B 16005
SHEg1T—— S o SLIOVS
3 B L8 90595°S
189" 67T —— mmc:.m% N——— N
265571 —— — 98LrS S —= 99170
LT 6T~ 90755°6 ==
i = bt = S
2ee et ]
mT 0SLTL"S
o 9SOEL'S
- s6onL'S
605L°S .
LEEE8"S
) 80978°S -
H ¥2L8°9 » =
= LETE8°9 w m W /Smo
o £5988°9 :
e - 68L68°9 o m 2 /
: S 010679 S i A
o 1201679 T — 0000°T
al 82592°L == o s
Q 86892°L o
= r WL m N e
@ 8L982°L W e
9LE6T"L o
[ 0T = =
wdd o H T
o™
-

wdd




920791 =

PIpTE ———
87€°5¢ —

e —
650768 ——
69607 —

79€6°78 —
7188 ——
8TL'9S —

052 1L
09L°TL >~

759°9L ~

0L6°9L
2l —

e T ——
8967611

psET—"
220" 97 ——
167" 60T~
T 0 ——

9T Pl ——

T06°S6T——
260 LeT—"

260°65T——
559" 1LT
apT—

wmdd

OPMB

.,.‘\%COO’V‘E

COOMe

13 13C NMR (CDCl,, 100MHz)
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